Instrukcja montazu gmoli dla / Crash bars installation instruction for / \
Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdcic¢
szczegblng uwage na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe

| [ |
chtodzenia silnika tak, aby nie byty przycisniete lub nie tarty podczas eksploatacji o gmole z
ama a IverSIon powodu Zle przeprowadzonego montazu orurowania.
Catos¢ orurowania zatozy¢ swobodnie dopiero na koricu skreci¢ docelowo.

1. Ustawi¢ motocykl na stopce centralne;j.
2. Odkreci¢ 2 Sruby trzymajace z lewej strony stopke boczng motocykla (Rys. 1 pkt. 11).
3. Zainstalowac¢ dolny gmol (Rys. 1 pkt. 3) (wystepuje on jedynie z lewej strony motocykla):

- w tylnej czesci przykrecamy gmol za pomocg 2 oryginalnych srub od stopki bocznej wykreconych
w kroku 2 (Rys. 1 pkt. 11),

- w przedniej czesci przykrecamy gmol do pustego otworu technologicznego za pomocg Sruby
W sktad zestawu wchodzi: M10x30 mm z podktadkami i nakretkg z zestawu (Rys. 1. pkt. 4).
1. Orurowanie lewe. 4. Odkrecic dolng czes¢ owiewki motocykla z lewej strony (w tym celu nalezy odkrecic 3 sruby
2. Orurowanie prawe. trzymajace ovyiewke Rys. 1 pkt. 12?. o '
3. Orurowanie dolne lewe. 5. Odkre?ajac 2 sruby.usunqc.\{vspfornlk zd,e,mor?towfamej OV\{IeWkI (Rys. 1 pkt. 13). '
4. $ruba imbusowa M10x30 mm z podktadkami i nakretka. 6. Odplac.z, zatlrzasku i odchyli¢ gérna ersc owiewki z Iewe! stronylmotocykla (’Rys. 1i 2 Pkt' 14).
X - 7. Odkrecic 2 sruby pod odchylong owiewkg (Rys. 2 pkt. 9) i usung¢ uchwyt stuzacy do jej
5. 2 Sruby M10x40 mm z podkfadkami. mocowania (Rys. 2 pkt. 15).
6. 2 $ruby M10x50 mm z podktadkami. 8. Ponownie przykrecié¢ usuniety w kroku 7 uchwyt pod odchylong owiewka (Rys. 2 pkt 15)
7. Uchwyt prosty — lewy. instalujac jednoczesnie uchwyt prosty orurowania (Rys. 2 pkt. 7) tak, aby jego cze$¢ wystawata
8. Wygiety uchwyt — prawy. w otworze owiewki (Rys. 3 pkt. 7). Oba uchwyty przykreci¢ za pomocg dwdch srub M6x20 mm
9. 4 Sruby szesciokgtne M6x20 mm z podktadkami. z podktadkami z zestawu (Rys. 2 pkt. 9).
Q. 2 $ruby imbusowe M8x20 mm z podktadkami i nakretkamy 9. Zatrzasngc¢ ponownie odchylong gorna czgs¢ owiewki (Rys. 3 pkt 14).
10. Odkreci¢ 2 oryginalne sruby pod owiewka taczace silnik z rama motocykla (Rys. 1 pkt. 5i 6).

11. Zainstalowac lewy gmol (Rys. 4 pkt 1) przykrecajgc go w miejscach usunietych w kroku 10
Srub:

- z przodu uzywamy $ruby M10x40 mm z podktadky z zestawu (Rys. 4 pkt .5),

- w tylnym otworze uzywamy sruby M10x50 mm z podktadka z zestawu (Rys. 4 pkt. 6).

UWAGA! Sruby dokrecamy docelowo. Po zatozeniu owiewki nie bedzie takiej mozliwosci.

12. Przykreci¢ ponownie na miejsce usuniety w kroku 5 wspornik owiewki (Rys. 4 pkt. 13).

13. Zatozyc usuniety w kroku 4 dolny fragment owiewki.

14. Potaczy¢ gdrng czesc orurowania z zainstalowanym w otworze owiewki w kroku 7 uchwytem
prostym lewym za pomocg $sruby M8x20 mm z podktadkami i nakretka z zestawu (Rys. 5
pkt. 10).

15. Analogicznie do kroku 4 odkrecic¢ dolng cze$¢ owiewki z prawej strony.

16. Kroki 6 - 14 powtdrzy¢ z prawej strony motocykla instalujgc prawg czes¢ orurowania. Pomingé
krok 12, poniewaz wspornik owiewki z prawej strony jest przyspawany do ramy. Zamiast
uchwytu prostego w otworze owiewki z prawej strony uzywamy uchwytu wygietego (Rys. 6 i 7

th. 8).

M=

www.heed.com.pl




Instrukcja montazu gmoli dla / Crash bars installation instruction for

Yamaha XJ6 Diversion

Ae set includes (as shown on pictures): \

. Left piping.

. Right piping.

. Lower left piping.

. Allen bolt M10x30 mm with washers and nut.
. 2 bolts M10x40 mm with washers.

. 2 bolts M10x50 mm with washers.

. Straight bracket — left.

. Bended bracket —right.

. 4 hex bolts M6x20 mm with washers.

Q 2 allen bolts M8x20 mm with washers and nuts. /

O oo NOOULL B WN B

M=

www.heed.com.pl

Piping should be installed only by a qualified person.

Pay particular attention to the electric beams, brake hoses and rubber hoses for engine cooling, so
that they are not pinched or they doesn't chafe during operation due to wrong installation of
piping.

During installation it is recommended to set up piping freely.

1. Place the motorcycle on the main stand.

2. Unscrew 2 bolts holding the kickstand on the left side of the motorcycle (Fig. 1 pt. 11).

3. Install lower left piping (Fig. 1 pt. 3) (this part is only for the left side of the motorcycle):

- in the rear part screw it using 2 original bolts from the kickstand removed in step 2 (Fig. 1 pt. 11),

- in front screw the piping to an empty technological hole using M10x30 mm bolt with washers and
nut from the set (Fig. 1 pt. 4).

4. Remove the lower part of the motorcycle fairing on the left (for this purpose, unscrew the 3
bolts holding it Fig. 1 pt. 12).

5. Removing 2 bolts remove bracket of uninstalled fairing (Fig. 1 pt. 13).

6. Unclip the latch and lift the upper part of the fairing on the left side of the motorcycle (Fig. 1
and 2 pt. 14).

7. Remove the 2 bolts under the lifted fairing (Fig. 2 pt. 9) and remove the handle for fixing it (Fig. 2
pt. 15).

8. Install again removed in step 7 handle under the lifted fairing (Fig. 2 pt. 15) with piping straight
bracket (Fig. 2 pt. 7), so that part of it protrudes into the fairing's hole (Fig. 3 pt. 7). Both handle
and bracket screw using the two M6x20 mm bolts with washers from the set (Fig. 2 pt. 9).

9. Snap again lifted upper part of the fairing (Fig. 3 pt. 14).

10. Remove the 2 original bolts under the removed fairing, which connects the engine with the
frame of the motorcycle (Fig. 1 pt. 5 and 6).

11. Install left piping (Fig. 4 pt. 1) screwing it in places of removed in step 5 bolts:

- in the front part use M10x40 mm bolt with washer from the set (Fig. 4 pt. 5),

- in the rear part use M10x50 mm bolt with washer from the set (Fig. 4 pt. 6).

WARNING! Tighten the bolts. After installing the fairing it won't be possible.

12. Screw on place removed in step 5 fairing's bracket (Fig. 4 pt. 13).

13. Install lower part of the fairing removed in step 4.

14. Connect the upper part of the piping with the left straight bracket installed in step 7 in the
fairing's hole. Use M8x20 mm bolt with washers and nut from the set (Fig. 5 pt. 10).

15. Analogously to step 4 unscrew the lower part of the fairing on the right.

16. Steps 6 - 14 repeat analogously on the right side of the motorcycle during installation of the
right piping. Skip step 12, as the fairing bracket on the right side is welded to the frame. Instead
of a straight bracket on the right side in the fairing's hole use the bended bracket (Fig. 6 and 7
pt. 8).




y
:

Instrukcja montazu gmoli dla / Crash bars installation instruction for

Yamaha XJ6 Diversion

Nk

www.heed.com.pl




Instrukcja montazu gmoli dla / Crash bars installation instruction for

Yamaha XJ6 Diversion

l"l==l-l

www.heed.com.




